
 

Layers                 Cost 
1                          $1.75 
2                          $2.65 
3                          $3.55 
4                          $4.45 
.                            .  
.                            . 
20                        $18.85 
.                            . 
.                            . 
100                      $90.85 
.                            . 
.                            . 
N                          $1.75 + (N-1)*$0.90 
.                            . 
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Cost = Cheeseburger + Extra Layers 
Cost = $1.75 + (L-1)*$0.90 
 

or 
 

Cost = Double-Double + Extra Layers 
Cost = $2.65 + (L-2)*$0.90 

To find the cost of an extra layer of 
cheese and meat, I subtracted the 
cost of the cheeseburger from the 
cost of the Double-Double and got 90 
cents.  I then multiplied the number 
of extra layers of meat and cheese 
(which was one less than the total 
number of layers because a 
cheeseburger already comes with a 
layer) by 90 cents to get the extra 
charge.  I then added the extra 
charge of the meat and cheese to the 
price of the cheeseburger to get my 
total cost. 


